In (L¥/L* ) TUBSRGB lightness * normalized |(log (AY/AY,) CIE tristimulus value difference
2,3--10 LLr to the background lightness.*, DAVIDY, AY normalized toAY,
L*=s (Y/Yn) -t (Y4=100, =100, n=(1/In(10)), t=0) [1{| 24 100*=1000Y/Y,)*"® (v,=100,Y,=18, 1< Y <100) [ad]
Lr=r (YY) =t (Yy=18, r={Y,/Yy)" = 47,45) [1c] dY = (2,4Y,/100) (Y/Y, 2“““0) Dncio} [2d]
e 1/In(10) N _ . (In(10)-1)/In(10)
LHIL* G=(YIY) (In(x)=In(10) log(x)) [1d] dYy = In(10)* (Y, /Yy) [3d]
log(L¥/L* )=(1/In(10)) log(¥/Yy) [Le] dy/dy, = (Y7y,)nd0-n(0) [4d]
Ir (LA y)=log(Y/Yy) 0,693 1] | 1410 log@vrdyy) = {(In(10)-1)n(10)} log: (Y/Y,) (5d]
LHLY = €290 K [1g] 0,391
. Y,=20, dY,=0,93, €IY/Y,)=0,046 s
oy (L5 01=0, m,=1,00 . | logl(dvY(dYy)l}=0, m,=0,56 L’
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log [(AY/Y) I (AYlY),]  CIE Y sensitivity log[(Y/AY) / (YIAY),)]  CIE Y-based contrast
SISu=(BYM( Ay/y} normalized to AY,/Y, CICu=(VIAY)(Y/DY), Normalized to Y /AY,
24100 =100(Y/Y,) " (v,=100,Y,=18, k& Y <100) i || 24200 =1000v/v) "9 (v,=100,Y,=18, 1= Y <100) [hl
dY/Y= (23/100) (YY) ¥ (2] YIdY = (2,3/100) Y, M2 Y1923 [2h]
dyiy=cy't 13 Yidy = e (YIY) 23 [3h]
dy/Y=d- (YY) V2R 41 YidY = £ (V1Y) H%R [4h]
1410 u 1410 “
€=0170  ggg d=0872 (5] e =587,093 f=3007,521 [5h
.o . L* =50, Y,=20, dY,=0,93, {/dY,)=22 0,301
| log(@YIY)/(Y/IY)I=0, m="043 —— | logI(YIAV)/(YIdY)J=0, m=0.43 ®
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